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Building of dimensions (40 m* 60 m) , have been executed and composed of
(basement, G.floor, 15t floor, 2" floor). The height of floors is as follows:
-Basement (2.8 m)

-Other floors ( 3.0 m)

Total cost of the building is ( 4,000,000,000 ID).

Determine the cost of the cubic meter using the following assumptions:
-cost of all floors is equal

-cost of basement 60 % of the cost of other floors
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Materials in unit measurement
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How to Calculate the Quantity V=0.75 (C+5) = 0.75( C+3C)

of 0.02 =0.75 (4C) —»C =0.0067 m3
Water ¥, = 1400 kg/ m?
Cement
Sand w, = 0.0067 * 1400 = 9.4 kg
in Plaster Vg =3C=3*0.0067 = 0.02 m3
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